HEOVDHBHDLE

DEDFHAEZLEL & D,

o 17+ 2=
e 20+ 3 =
o 10+ 4=
o 11+ 5=
e 33+ 5H =
e 23+ 4=
e 20+ 3=

10+ 3 =

23 + 4 =

15+ 2 =

10+ 4 =

11+ 3 =

22+ 4 =

6+ 5=

SESHEOVDOHELLOE



HEOVDHBHDLE

DEDFHAEZLEL & D,

o 7+ 5=
e 11+ 6=
o 10+ 4=
e 9+ 4=

o 14+ 3=
e 20+ 9=
o 13+ 3=

15 +

17 +

31 +

20 +

14 +

23 +

23 +

SESHEOVDOHELLOE



HEOVDHBHDLE

DEDFHAEZLEL & D,

o 14+ 8=
e 60+ 9=
o 11+ 8=
e 70+ 9=
e 02+ 9=
e 13+ 7=
e 30+ 9=

Hh2 +

21 +

31 +

062 +

11 +

30 =

12 +

SESHEOVDOHELLOE



HEOVDHBHDLE

DEDFHAEZLEL & D,

e 0+ 9=
e 12+ 9=
e Hh2 + 6=
o 16+ 9=
o 14+ 9=
e 30+ 8 =
e hHh + 7T =

34+ 9=
21 + 8 =
52+ T =
23+ 9=
6l + 7=
65+ 9=
8+ =

SESHEOVDOHELLOE



HEOVDHBHDLE

DXDEHEAELEL LD,

o 44+ 8 = e 23+ 3 =
e DO + 6 = e 76+ 9=
o 17+ 7= e 24+ T =
e 15+ 4= e 0+ 2=

o 13+ 2= o 27+ 4 =
e 28+ H = e 33+ 5=
e 46+ 8 = e 20+ 9=

SESHEOVDOHELLOE



HEOVDHBHDLE

DXDEHEAELEL LD,

e 34+ 6= e 7+ 3=

o 17+ 2= e 15+ 6=
e 27+ 6= o 34+ 4=
o 13+ 5= e 60+ 7 =
o 47+ 9= e 20+ 3 =
e 20+ 8= e 65+ 9=
e 46+ 7 = e 68+ 8 =

SESHEOVDOHELLOE



HEOVDHBHDLE

DXDEHEAELEL LD,

e 832+ 9= o 48+ T =
e b7+ 6= o 7T+ 2=

o 48+ 5 = e h8 + 8 =
o 66+ 8 = e 20+ 6=
e 39+ 8= e 19+ 9=
e 719+ 9= e 38+ 5=
o 44+ T = e 90+ 6 —

SESHEOVDOHELLOE



HEOVDHBHDLE

DEDFHAEZLEL & D,

e 39+ 4=
e 39+ 7=
o 6+ 4=

e 26+ 3=
o 834 + 9=
o7+ 6=

o 11+ 2=

15 +

16 +

38 +

062 +

41 +

32 +

606 =

SESHEOVDOHELLOE



